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Question Number : 1 Question Id : 4509385921 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The technical presentation of Mango should be as follows
I.  Abbreviated form of author name after the specific epithet
II. Both the words should be printed in 1talics

III.  The first word must represent genus

IV.  Name should not be underlined when hand written
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Question Number : 2 Question Id : 4509385922 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the following characters of organisms and identify to arrange in sequence
A: Glycogen and chitin
B: Pigments in cell, mesokaryon

¢ Pellele, eytasione
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Options :

A: Actinomycetes. B: Mycoplasma. C: Shime moulds

A: 8§S VD . B: DS, C: BHSh 2vreren

1. %
A: Chrysophytes. B: Phycomycetes. C: Protozoa
A 3O 0. B: DEFVED. € [(DEEHD
2. #
A: Archaebacterta, B: Mycoplasma. C: Protista
A e38) 288050, B: DL C: 3R
3. % | i
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Question Number : 3 Question Id : 4509385923 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct combination from the following

I |Cell Cytology | Hooke
IT | Microspore Palynology | Wodehouse
III | Internal details Anatomy | Nehemiah
IV | Vital activities of plant | Ecology | Amon
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Question Number : 4 Question Id : 4509385924 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Food materials are stored in this algae of these bodies
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Options :

Chlorophyceae — Starch

5§60 - 20& drdo
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Phaeophyceae Mannitol
- DAFRN — 0EFD
Rhodophyceae — Floridean starch
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3.
Chlorophyceae — Pyrenoids
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Question Number : 5 Question Id : 4509385925 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the Correct combinations from the following

Botanical Name Family Fruit
I | Ficus benghalensis Moraceae Sorosis
II | Onvza sativa Poaceae Caryopsis
I | Mangifera indica Anacardiaceae Pome
IV | Citrus sinensis Rutaceae Hesperidium
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Options :
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Question Number : 6 Question Id : 4509385926 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following statements are correct

I In cyathium flowers are pollinated by Blastophaga

II Bilipped corolla is seen i Ocimuin

III Basal placenlation is found in Dianthus

1V ‘Whorled Phyllotaxy is found in Aistonia
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Options:
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Question Number : 7 Question Id : 4509385927 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Formation of an embryo from unfertilized female gamete

DEEGE0 TOA [_f;;v SOWRNE 20 HOD) DOGO DS IEHE

Options:
Apomixis
SPSTelevVidptNTNT®
Apogamy

HOTBEHD BT b0

2. %
Apospory
2ED BT TS0
3. %
Parthenogenesis
9D ME2SS0
4.

Question Number : 8 Question Id : 4509385928 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify wrong matching

559 22650 HBoTLAD

Options :
Self Sterility = Gloriosa
£365765065565 50 ABa=P
1.¢
Herkogamy = Hibiscus
= o = P
RLOPRTAN TN
2. %
Protandry = Sunflower
DOTHDEHToves Y3 H3°8 5703
3. %
Protogyny = Datura
(NEFHDEToees 1€ e
4, ®

Question Number : 9 Question Id : 4509385929 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct floral formula of mustard plant

35308 DOTDA DNIDWEBEI0
Options :

1.¢
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Question Number : 10 Question Id : 4509385930 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the different shapes of the cells
Table I Table II

[ |Elongated Round and biconcave

II | Branched and long Amoeboid

A
B

IIT | White blood cells | C | Nerve cell
D

IV | Red blood cells Tracheid
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Options :
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Question Number : 11 Question Id : 4509385931 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Chromosomes with equal arms

D378 20N EE)S |8 RorFn e
Options :

Metacentric chromosome

FEF0|E3E 5T
1. %

Submetacentric chromosome

D) DEFOESE 5T
2. ®

Telocentric chromosome

365 01€35 |7
3.

Acrocentric chromosome

5° O3S 1SR
4. %

Question Number : 12 Question Id : 4509385932 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In DNA. bond between the phosphate and hydroxyl group of sugar

BOHIN ©ENYS TR HOC B8 ITEEIS DaNTON0 S5 20650

Options :

1. %



Hydrogen bond

G2 20450

Glvcosidic bond

TS AS 2085w

Ester bond

DO 208550

Peptide bond

BT RASIAINW

Question Number : 13 Question Id : 4509385933 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the correct combinations from the following

Event Phase Result
I | Synapsis Zygotene | Bivalent formation
II | Crossing over | Pachytene | Recombination of genes
1T | Disjunction Diplotene | Segregation of genomes
IV | Terminalization | Diakinesis | Division of chromosome
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Question Number : 14 Question Id : 4509385934 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Assertion (A): Phloem fibres (bast fibres) are made up of sclerenchymatous cells.

Reason (R): Phloem fibres are generally absent in primary phloem but found m secondary phloem.

D380 (A): 2 S8z N (@) FBe) B¢ Eeaxre) Saaanod A0

SR (R): S $02r0 OO0 PR RS §N8 E0ere0d &0k
59 6 5800 8 §uEro0d EADTW.

Options:

A and R are correct. R 1is the correct explanation of A

A NG R 8D, R @D A 580 SEAD DadBED
1.¢

A and R are correct. R is not the correct explanation of A

A DB R ABQHAD. R @DIE A o3850 S80S DB 52D
2. %

A 1s correct but R 1s incorrect

A D8BTSO SR R HOTDSE 5°¢0

A 1s incorrect but R 1s correct

A SBTDS ¢ 5 R HOTPSE
4. %



Question Number : 15 Question Id : 4509385935 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify A, B. C and D parts in the vascular bundle of monocot stem given below.

B NESFDE 0055 TOTY020S A. B, € 5805 D 2rmered th8odod

Options :

A-Metaxylem, B-Protoxylem, C-Phloem, D-Lysigenous cavity

A-29068505°(00), B-[20DaNTFa), C-F 0585625700, D-e0h23°ed 50a00

A- Phloem. B-Metaxylem.  C- Protoxylem. D-Lysigenous cavity

A-SPA55802700. B-@9065 5T 6d). (2G0T Me)). D-00H27ed 50700
2. %

A-Phloem. B- Protoxylem. C-Metaxylem.  D-Lysigenous cavity

A-SFQ8502700. B-QeNTT M), C-290ed 5T e)). D-00023°ed 30.780

A-Phloem. B- Metaxylem.  C- Lysigenous cavity. D- Protoxylem

A-SFA88002700, B-29065 516y, C-0)0023%d 506330, D)@ o)
4.9

Question Number : 16 Question Id : 4509385936 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The tissues generally present exterior to the vascular cambium made up on these tissues
TS Aeres SETHP8 IO Sereron) & §aErered V0P GOk

Options :

Periderm and secondary phloem

HOIBI0 SHBOW & 53D FENEEeeTO0
1.4

Periderm and primay phloem

0G0 NBCIW |2lGens FAEE2O0

2 %

Phellum and secondary phloem

— & -

DO DO & 5e30D SFAEE OO0
3. %

Phellogen and cork

o A —

DO 20 DBk Toch

4. %

Question Number : 17 Question Id : 4509385937 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the correct combinations

Salvinia | Free floating

No contact with soil

Utricularia | Insectivorus plant

Free floating hydrophyte

Vallisnaria | Submerged rooted hydrophyte

Stomata absent

=

Lipha Amphibious plant

Live partly in water and partly in air

DO $O008D HEota

IT. I1T and IV

I1. I S8y IV

3. %
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Options :
11 and III
11 0805 I
1. %
L. IT and III
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2. %




[ III and IV

I I o080k IV
4.

Question Number : 18 Question Id : 4509385938 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Assertion (A): Hydrophytes contain aerenchyma, that helps in gaseous exchange and buoyancy.

Reason (R): Mechanical tissues and xylem are poorly developed.

DB (4): A3 I & FOW S DD E0d FoNHE
DHEHO sDBARN BOAPCDEIR SFEBOTDD.

SO (R): Oro[@s Seaereren OO0 e ©O)OT ©DdyE DO
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Options :

A and R are correct. R is the correct explanation of A

A 30805 R HOTHRD. R @3B A S50 S8 DHBe

A and R are correct. R is not the correct explanation of A

A SHB05M R SBTVSD. R @036 A S50 HOTS Da3Bea 595
2. ¥

A 1s correct but R 1s incorrect

A BT 5D R HOTNSE 5%
3. %



A 1s imncorrect but R 15 correct

A SBTDSA 5% T R HOTDSD
4, %

Question Number : 19 Question Id : 4509385939 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Assertion [A] : Bulk flow can be achieved either positive hydrostatic pressure gradient or a
negative hydrostatic pressure gradient
Reason [R]  : Movement m the xylem is always bidirectional
D)0 [A] : O[T )8 BOVBE 3ol BE anereh) 2OVBY
D6 T 507 DOV
DSGRR] : EYS ST & SO (S0 Joenod

Options :

A and R are correct. R 1s the correct explanation of A

A S0B05M R HBTDSD. R @00 A S50 H8TS Den

A and R are correct. R 1s not the correct explanation of A

A 0B R AOTDIN. R @900 A DB S8 Daxdded 57
2. %

A 1s correct but R 1s incorrect

A HBTHXEO 5 R HOTSE 5°¢0

4, ®



A is incorrect but R is correct

A SBTDIE 5 5 R HOTSE

Question Number : 20 Question Id : 4509385940 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following list

ListA ListB
A | Apoplast [ | Sensitive to mhibitors of proteins with side chains
B | Solute potential IT | Two types of molecules cross the membrane in same direction
C | Symport [T | Movement of water through intercellular spaces and walls
D | Facilitated diffusion | IV | Lowering of water potential due to dissolution of solutes

1800 He380rnd IR

HE38-A DE3E-B
A Ty I | (%639 5%, Fendod ¥d; 26 ABred &ri)
[TaT 565 LaPayad)

B ||creh 485 | I | Boch 8570 e9ennsyen o8 B ¢ sd0 o g0

aSPed o
C | dokd I | A& 9030 deTodTrdsaen nda Sasdore
5o 3QHenod

D | erdies IV | |ceesren $esyed) 6 N3 $83065 D833 dibcse

Options :

A-IV B-Ill C-IT D-I



A-IV Bl C-IIT D-II

%
A-IIT B-I C-IV D-II
3. %
A-TIT B-IV C-II D-I
4.

Question Number : 21 Question Id : 4509385941 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion [A] : Some essential elements can alter the osmotic potential of a cell

Reason [R]  : Sulphur is the main constituent of several coenzymes

D50 [A] : 5, ®5358 arersen $06 R [BrDIGe §5008 Srdykos)

SO0 R] 100 ©FE QTI0BD O 0P BDE0

Options :

A and R are correct. R is the correct explanation of A

A 805 R SBTDA. R 8903 A 580 HBTS DI

1. %

A and R are correct. R 1s not the correct explanation of A

A DB R Q8D R @ahadd® A 480 08D odded 5%
2. ¢

A 15 correct but R 1s incorrect

A HBTOXE 5 R HOTDSE 5°¢0



A 1s incorrect but R is correct

A HBTDSE 5D 5% R HOTHIO
4, %

Question Number : 22 Question Id : 4509385942 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following list

List -I List -IT
Manganese | 1 | Synthesis of RNA & DNA

A
B | Magnesium | i1 | Cysteine and methionine
C

Sulphur i1 | Splitting of water in photosynthesis

D | Hydroponics | iv | Commercial production of Lettuce
808 HE3EO BHDETHW

HE3ET IALEI|

Al Sroffdn | 1 | RNA & DNA S03569

B | Dffyaoho | ii |7 PSEVeloWEAleV N

C | X5036 iii | 83£22303508871 180HS N3 DT )30

D | 37& A5 | v | Tedas 0T Bearsn 56h)e

Options:

A-1 B-ii C-iv D-u

A-tv B-in C-i D-1

A-1 B-u  C- D-1v



A-i1 B C-i D-1v
4.

Question Number : 23 Question Id : 4509385943 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Find the mcorrect statement regarding Enzymes
A. Enzyme catalysing the linking together of 2 compounds are lyases
B. Glutamic acid is converted as glutamine in the presence of glutamine synthetase
C. The average content of ‘S” and that of transition state 1s called activation energy

D. Inorganic catalysts work similar to enzymes at high temperature
D0Zod) OF 022050 ABF a7 550D (HBOHAD
A. ©TH 02 SoBrATOD DD 985S PSR JoBA0en
B. (Dertn§ a0, MErN ROGHE T 50r DEFMIR ™ I8 D
C. $ 5708 45 D9, [E0H65GS DB & 38 DS suckstie By G2
STOTAROV
D. @68 &FISS eoO BBI0TEN OB S H TTow

Options :

A D
1.4

4., ®



Question Number : 24 Question Id : 4509385944 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Choose the correct statement among the following

A. First action spectrum of photosynthesis was observed by Cladophora experiments

B. Chlorophyll b’ will be blue green in the Chromatogram

C. In the Biosynthetic phase of photosynthesis ATP and NADPH are used

D. In photosynthesis light saturation occurs at 10 % of full sun light

E. In CAM plants RuBisCo will be absent
B0HTAS SO 50 HEothen

A SHFT H05080 5o SeadsaoRriiodh Iwde B8 SgNeo
hdotdadod

B. (SXTES T & e oT00-8), ) ey oS Gotnod

C. §0mas N0 1BoHSR B N0t IS ATP B0k NADPH &0
M OWRHOIATATR T ZOW

D. §36az:d5 SOTPH (SN N0 rUss08BES 10 760 &5 O 0 e
BOEN0H

E. CAM 30406 RuBisCo 50¢55

Options :



Question Number : 25 Question Id : 4509385945 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Assertion [A] : Light harvesting complexes made up of many pigments bound to proteins
and are called antennae

Reason [R] : Antennae absorb different wavelength of light
D33¢5630 [A] : OB 20T D0SFeN 193D 20OS D T 8¢ (e
EEN)O) SN SO T 202N

SOROR] : SOBRY) DA S0l BIse S6 508 5 aalon

Options :

A and R are correct. R is the correct explanation of A

A SDBOM R Q8D R @900 A 350 80D aded
1.

A and R are correct. R 1s not the correct explanation of A

A DB R O8N, R @000 A 580 AB8AHA a8 5°¢H

A 15 correct but R 1s incorrect

A HBTDSE TR HBTDAE 5



A 15 mncorrect but R 1s correct

A HOTDSE 595 5 R SO
4. %

Question Number : 26 Question Id : 4509385946 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the followmng list

List A List B
a | Oxidation IV 1 | ATP synthase
b | Cleavage 1 | Phosphoglyceromutase
¢ | Complex V i | Oxaloacetic acid formed
d | 3-Phosophoglyceric acid | 1v | Succinyl COA is the substrate

T IARASIITMT M e TAVAW

HE3E.A He3E-B
a| &8 )86 IV i | ATP DOBE
b | DALS0 i | QA0 05T
¢ [ 508wV ii | e35°)65 920638 €320 8B
d | 3-3rF 0085 800 | IV | A§)TO COA BDNE BGINTY0

Options :

a-iv. b-il  ¢-1 d-111
1. %

a-u1 b-1v -1 d-u1
2.

a-iii b-u1 ¢-1 d-1v



a-i b-111  c-11 d-1v

Question Number : 27 Question Id : 4509385947 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Choose the correct statement related to growth rate, conditions and growth substances
A. Root elongation 1s the arithmetic growth
B. Geometric growth shows sigmoid growth curve
C. Turgidity helps the cells in extension growth

D. Natural cytokimins are synthesised in older parts of the plant
2%MHe Ten, Hoden HB0R VANGD ITTOH 00O OIS
32500 HB0hen

A, 20T 590 @0 e

B. 200 DM maank SEBnd ArdNed

C. 870 0)$0 HOd DDA Sdhodachenod

D. N8 DE TS € A8 e M08 ToheEon
Options :

A.B.C



Question Number : 28 Question Id : 4509385948 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Matching

I II

A | Pasteurization |1 | Mild heating of mulk to kill particular pathogens

B | Bacillus sps | 11 | Cork screw shaped

C | Spirochaetes | 111 | DNA components to detect active toxic pollutants

D | Biosensors | iv | Feeds on organic detritus

20 tdein
I I
Alrd 0800 |1 | T050se O ey THFom B8 Tond

36 Dk

B|araouare |ii | (3 8500

C 080y || Z80m0sd drhes senag sETen o

DNA @085 HO0thHe)

iv | A0 VOO JTTOD0D e

Options :

A-1v B-111 C-11 D-1
1. %

A-1 B-iv C-11 D-11
2. %



A-iv B-iii C-1 D-11

A- B-1v C-11 D-111

Question Number : 29 Question Id : 4509385949 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Match the following

ListI ListII List IIT

A | Two genome copies | I | Long rod i | Influenza virus

B | Helical I |RNA i | Rabies virus

C | Enveloped I | Glycoprotein i1 | Measles virus

D | Spikes IV | Roughly spherical | iv | HIV

26 HGIaD

DK T 63811 HEE 11
Al228Se S0y | I | srctnad oo i | g0 TR0 FOR
B | 38)00 Il | RNA i | 0P G
Clom)dso | I|78 S il | G ) 36D
DRRSVEARWIN IV | gotd aboth figrsio | iv | HIV

Options:

A-TI—1v B-I-1u C-IV-i D —1III - 11
1.+

A-TI—iu B-I-iv C—-1IIM—1i D-1I-1



A-T—-m B-I-u C-IV-1 D —1III —1v

A-T—-1v B-IT-u C-IV-1 D-II-1
4, %

Question Number : 30 Question Id : 4509385950 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following

I I

Pletotropy |1 | Cross of Fy with a dwarf plant

==

Codominance | 11 | Single gene related to more than one character

C | Test cross i1 | Genes code for a pair of contrasting traits

D | Alleles 1v | The Fy generation resembles both parents
20T
I II

B | o> 20y Qebed ¢0 | i | 2,8 2055 2,883 50 D80 08 e70d N020630

[

D05 0880 | il | 2,8 Beh DA ©F £OE JOSTEVT (16 Bebga)en

D| oSy 5ermyen |1V | 23058 680 T80 o ©F gren Fy 640 tira) e

Options :

A-1 B-1v C-i D-1i1
1.+

A-111 B-11 C-1 D-1v



A-i1 B-iv C-111 D-1

A-1 B-i11 C-u1 D-1v

Question Number : 31 Question Id : 4509385951 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Identify the similar behaviour between chromosomes and genes
A. Ounly one pair segregate independently
B. Occurs i pairs
C. Segregate at the gamete formation and only one of each pair transmutted to gamets
D. Pair segregate independently

SIPP000 B85890 GRS SFOZS (DGO
A 282,826 5800 Y0888 ToOE

B. 2000 ts0ron
€. D0ar Deren AE)B HDADOS D%, 86 Tod BOOS' 2,863 s Bdad

2,8 OGRS HOEMN0O

D. B3O8 @ {BO(HOT B8} 08 TONT O

Options :

A B
1. %



4.

Question Number : 32 Question Id : 4509385952 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Choose the correct statements regarding DNA discovery
A. Watson, a physist and crick a zoologist were awarded Nobel prize m 1962
B. The data based on X-ray diffraction was used for DNA structure
C. Two nucleotides can be linked in the 5! — 3 direction through phosphodiester bond

D. CsCl gradient 1s used to measure the densities of DNA
DNA 850108250 Q020800 0GR g5 (HB0than
A TREF|NRS 76)S, 20 T SIS (855 1962 S S B 200 SD06
B. DNA 0026050 X-56670 20 83580 11e) deirirdo ardsdGadd
C. Boh ArsS@rBA e 51 3 B4 FI B0 20TOs Sevnad
OIAROW
D. 0N §DE )e369h T 0 DNA aF0[¢Iehed DB,

Options :

A B
1. %

2. ¢

3 % Al B

L w AC



Question Number : 33 Question Id : 4509385953 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Match the following

I I
A | Hershey-Chase experiment 1 | DNA gets stability
B | Replacing uracil with thymine il | DNA of § bacteria caused R bacteria transformed
C | Avery. Macleod and McCarthy work | 111 | Stability to Helical structure

D | Plane of one base pair stacks over | iv | DNA as genetic material

other
IOV
I II
A| 330, B [HA3rTren i | DNA % 20650 510E

Bl ohodd oS Sahdds i |§ 2880l DNA, R ar3Bor
€50CHE) 2088 Tothe

C | @938, Sr8oire , S50 (a3rmmen | it | 60 Aomerds D50

—

D| 585 26 TR A0So0d | iv | DNA BzEdo

DO 2% SrchHd

Options:

A-11 B-1 C-1v D-i11
1. %

A-1v B-1 C-11 D-1i1
2.

A-v B-11 C-1 D-111

3. %



A-iii B-1 C-1v D-i1
4, %

Question Number : 34 Question Id : 4509385954 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following

List ListII List ITI
A | Kanamycin [ | Cloning vector i | E. coli
B | Plasmid II | Restriction Enzyme | it | Control of copy number
C |rDNA I | On il | Agrobacterium
D | Vector IV | Selectable marker iv | Ligase

1508 TR 2SIHTN
A AL A

A S| T | 500 arso i |80
B |G | I |3R850 08 i | 5°2) 083 ACHO|EED
C [rDNA I | Ori i | e’ 2rg600aD
D |mFs0 | IV | oS Taho Srdpd | v | Bne

Options :

A-TM-1 B-II-iv C-I-11 D-II-1
1. %

A-TI-u B-I-1u C-IV-1 D-II-1v
2. %

A-IV-i B-I-1i C-I-iv D-II-ii



A T8 Hi B-1III-iv ¢4V -1-4
4. %

Question Number : 35 Question Id : 4509385955 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion [A] : In general Gene gun method is used to insert DNA into the competent host

Reason [R]  :Inbiolistic method. cells are bombarded with DNA coated with micro particles of

sl
D50 [A] : TeDTIA), 1) OBTow S8 DNA & $2)0NTRE Fdeor
B0 DO O
5680 [R]: 2OTOYE HGAES ST %) 208N 8 J5TOS S TS DNAS
LRIV ORAIVEEN

Options:

A and R are correct. R 1s the correct explanation of A

A N5 R 83D, R @D A 080 DOD DdBED

A and R are correct. R is not the correct explanation of A

A DB R 83D, R @A A 550 BN D38 5°CH

A 15 correct but R 1s incorrect

A BTG TR R HOTPSE 52

4.+



A 1s incorrect but R is correct

A HBTDSE 595 5% R HOTSE

Question Number : 36 Question Id : 4509385956 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Assertion [A] : PCR 15 used to detect HIV

Reason [R]  :Itis based on principle of antigen — antibody interaction
Q76530 [A] : HIV QT G50 PCR 5008P A
SO0 [R] ;30 (DG5S 230950 - [DSSE 50 G0 (230550 T80

SGOM GOLNOH

Options :

A and R are correct. R 1s the correct explanation of A

A B0 R 8D, R @0 A 80 Q8N DB

A and R are correct. R 1s not the correct explanation of A

A BB R HBTDAD. R @90 A 580 HOTDS DS3BE 5°¢%
2. %

A 15 correct but R 1s incorrect

A SBTDSE SRR HBTPSE S
3.

A is incorrect but R is correct

A SBTDIE ¢ 5% R HOTSED
4, ®



Question Number : 37 Question Id : 4509385957 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Study the table and find correct combination

[ | Brassica napus | Male sterile plants | Herbicide tolerance
IT | Nematodes RNA Interference | Tobacco

1T | Insulin Eli Willey Agrobacterium
IV | Basmati Transgenic plant | Abiotic stress

DEED ©¢5aHI0 TR DS Soomed HBoW

I | (P05 %90 | 2)Ea) HOCI5eh 5oy Sn8pen | Her) ra§esad eEPSe)
I | 3hSGen |RNA S:e08e SPITE)
M| 20)08 |20 1ForSB006D
IV | 20969 2508508 Iy D0 HBaeren
Options:
I III
IL IV
2. %
I 1I
3. ®
,x HLIV

Question Number : 38 Question Id : 4509385958 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion [A] : Genetic variability is the root of any breeding programume

Reason [R]  : The entire collection of plants or seeds having all the diverse alleles for all genes

in a given crop s called germ plasm collection

D380 [A] : BN SO EITAZ B SRS 306 ireriroo

SO0 R] o8 KPR 50 %) Tt DEGH Inéen B dToS
DG G50 o5 AFETIOF H0V0HODY BR) BedHEN HOT

DedTrE D868 ©0erd

Options :

A and R are correct. R 1is the correct explanation of A

A SHBCID R QOQDAD. R @0 AE A S8 S8 DadBed

A and R are correct, R 1s not the correct explanation of A

A DB R OB8QHA. R @G A S50 D8N eded 5°¢0

A 1s correct but R 1s incorrect

A SBTDSE AR HOTDIO S

A 15 incorrect but R 1s correct

A HOTDIO ¢ 5 R HOTSE

Question Number : 39 Question Id : 4509385959 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct statement related to biological control agents
A, No negative impact on plants, mammals, birds or insects
B. Ecologically sensitive area 1s being treated
C. Species specific msecticidal applications
D. Integrated pest management 1s not benefited
BT VODO(EED NPT NOAOHOW MB) PFDEOD o)) Taold)
A 3080, § oo, e 80 §ase DS S0t BB [Harso
500D
B. cDA) S 8069 (D50 DO AdL0 (BTN
C. 26 D3 8628 7% e 3tdaren
D. §&% 50588 A 5sTea FEERSA 3

Options :

ACD

Question Number : 40 Question Id : 4509385960 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Select the correct combimations

I | Monascus purpureus

Statins

Yeast

I | Trichederma

Cyclosporin-A

Immunosuppresive agent

[T | Pencillium Fungi Butyric acid
IV | Acetobacter aceti | Bacterium Lactic acid
B SOOI ) Tedeld
I | a8 Ser)0a00 | e e &
I | 2§E0 JFBRA | BHdBwES  asrdoro
SO GO arsd
I | 2a)abo 300(¢50 2056365 ©a00
IV | @é5ersd end 2r880HS erSS a0
Options :
IT. 111
1. %
1. IV
2. %
o LI
L« LIV
Zoology
Section Id : 450938128
Section Number : 2
Mandatory or Optional : Mandatory




Number of Questions : 40

Section Marks : 40
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Is Section Default?: null

Question Number : 41 Question Id : 4509385961 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion (A): Nematodes are pseudocelomates,

Reason (R): Perivisceral space 1s filled with parenchyma derived from mesoderm.
EB0 (4): FNEG 0 DErsddd Lrd Byen.
SGEI0 R) : DT50300 |DBF0 )5 Q530 0D BN s §927r00S

.

D0G GOEN0Y.
Options :

A and R are true. R is correct explanation for A

ANOANM R D20.A8R OB Dadea

1. %
A and R are true. But R is not correct explanation for A
. A OO R A20. 7 A SR ATV a)aaden 57¢»
2.
A 1s true. But R 1s false
A Q20. A R QB0 5°¢H
3.¥

A 1s false. But R is frue

4 A Q230 5°CD. 5% R 220



Question Number : 42 Question Id : 4509385962 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Study the following and 1dentify the incorrect combinations

List-1 List-2 List-3
I | Wild life protection society | Dehradun Preventing the destruction of Indian
of India wild life
11 | Earth summit Rio de Janiero Protecting the diverse living forms
III | Zoological survey of India | Kolkata Preventing the over - exploitation of
resources
IV | World summit South America Sustainable development

508 30 @¢35aH0 TR N8FR WEN0OD thEowod

36 -1 80 2 50 -3
I | arded B aedglared QLR | 20 T8 Sadg areh) e DTEN0
088 2 &FRE SHOT Sl
I | 588 S5 G G 2T | IG5 e HosE e
I | 2er 286 93 ¢ e85 ol e @B Dok
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IV | 1232080 D) 86 &R0 | DY @DSYE
Options:
L x LI
L, LIV

I1. IIT



s % LIV

Question Number : 43 Question Id : 4509385963 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion(A): In parazoans different types of cells are functionally isolated,

Reason(R): The cells in sponges are arranged as loose cell aggregates.
DEIB0 (A) : T DD S AN B5°0 Fearen 1§asreh50re Dad§ed Tod
CsOETOW.

$B€0 (R) : 90250 ¢ EeTen DB §6d DTN T 968 GOLFaW,
Options:

A and R are true. R is correct explanation for A

A NS R V20.ASR ODA a)edded

A and R are true. But R is not correct explanation for A

A DB R 0230. 550 A § R QD 220062 55D
2.¢

A 15 true. But R is false

A Q230. 5% R Q230 5°C0
3, %

A 15 false. But R 1s true

A Q230 5°¢D). 550 R D220



Question Number : 44 Question Id : 4509385964 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Choose the correct statements regarding bilateral symmetry
I This symmetry is advantageous to slow moving animals,
II. The ammals with this symmetry can respond efficiently m new environment due to
cephalization.
I11. The median sagittal plane divides the organism into two antimeres.

IV, The animals with this symmetry lacks definite body form.
& 5ar0y5 SPalaI0 5 020600 A0 @oTe) Hlothod

L & a0 To0OM SOB B0 ehEreo.

I & 27690 80 25900 396 90 TORGE0 S50 5 PSS )
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IV. & 271290 B0 2390 S 383 e @30 G5 SDY06.

Options :

I 111
1. %
I IV

LIV

4 II. 111

Question Number : 45 Question Id : 4509385965 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the correct combination regarding neuroglia,

List-1 List-2 List-3
[ | Astrocytes Central nervous system | Provide blood — brain bartier
I | Ependymal cells | Autonomous nervous Bring movements in cerebro
system spmal fluid
I | Oligodendrocytes | Central nervous system | Form neurilemma

IV | Satellite cells

Peripheral nervous

system

Surround

ganglia

cell

bodies 1

50NAFE 020500 AT HED0YOD HGotew
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TEH06 S & BIFOD
©3005¢50

Options :

I1. III
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, x LIV
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Question Number : 46 Question Id : 4509385966 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Choose the incorrect statements regarding Siphonopoda
I. They show open type of circulatory system.
II. Brain is enclosed in cartilaginous cranium.
III. Some possess ik gland.

IV. Development includes trochophore larva.
VNS B H020EH0D HBID 5 070D HEoHodk.
I |08 350 adadged GS0.
IL 0 sDYE0ETR DB e Earer0 &S Sotnod.
L §9)) 29 DTH0E G0tnod.
IV. @850 S (586 erors &otnod.

Options:

. I

1. %

LIV
2.

I. III

I IV

Question Number : 47 Question Id : 4509385967 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Choose the correct combination among the following.

Class Animal Special character
I | Cephalopoda Loligo Torsion in development
IT | Tentaculata Pleurobrachia Comb plates
III | Hirudinea Haemodipsa Boftryoidal tissue
IV | Pelecypoda Pulsellum Crystalline style

808 8BS 9B DEDoyOD hiosod

erio 208)5) DBE ©F 80
I | 2568 o erp? 20TDIYOS DOE

I [ DotrdBer | oblarfalr | 30550 Hosen

I | TP | rardar) SErond® Sezre0
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Options:
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IL. IV
2. %

I IV
3. ®

II, III
4.

Question Number : 48 Question Id : 4509385968 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Nuclei pulposi are

&

HET IR T0E557EN @D

Options :

Blocks of muscles

5040° Oaden

Hydrostatic organ

52090 e 950050
2. %

Remmnants of notochord in the intervertebral discs

. 430570650 29188 o G0 DM S0¥ e95Faren
3.

Taste buds on tongue

L TPeE D trdd) HD HPEEn

Question Number : 49 Question Id : 4509385969 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the incorrect combination among the following.

Class Evolved from Evolved in
[ |Fishes Ostracoderms Silurian
I | Amphibia Osteolepids Devonian
I | Buds Therapsid reptiles | Cretaceous
IV | Mammalia Theropods Triassic

808 FES GBI 5 DHEN0HOD (HBotHod

eriio 650 )09 o) en) &30 SO
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Options :
I III
IL IV
i
3. %
1. IV

Question Number : 50 Question Id : 4509385970 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the following and pick up the correct statements:

I The peripheral doublets of a flagellum are mterconnected by linkers called nexins.

II.  The basal granule of flagellum 1s connected to plasma membrane and nucleus by rootlets.
. Flagellum in Monas are stichonematic type.

IV.  Pantacronematic flagellum is found in Polytoma
1506 3R e3¢i50H0 TR MBS @oTe HBotdodk
L 3805 R H000H ol drd; dien I8 & oF ok o
28PN 53 Seriath Godraw.
L $7250 Ong) errdses Tame sdo, Soitko o8 dreren 8dai Sodd
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Options :

I.III
1. %

IL. IV

I1, TIT

4 LI

Question Number : 51 Question Id : 4509385971 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Reticulopodia are found in

278 DTN (reticulopodia) 0 229



Options :

Entamoeba

DOEIDET

1. %

Eughpha
e der

Elphidium
J)3avo

Actinophris

S5 (2

Question Number : 52 Question Id : 4509385972 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Assertion (A): Preparation of vaccine for malaria is very difficult

Reason (R): Plasmodium keep changing its surface antigens from time to time
DIB0 (4): HBBOTE 7813 (¢35) hoird Tob&o Trer o
56800 R) : JEAN0 S Bor GNOSO HBBITOD SEDT PG

eJ0]AVOIN
Options :

A and R are true. R is correct explanation for A

ANBOM RARO.ASR QDA Dadea
1.¥



A and R are true. R is not correct explanation for A

A DB R D220. 5% A SR QD a0 83 5°¢0

A 1s true. But R 1s false

A D230, 5% R Q230 5°CD

A 1s false. But R 1s frue

. A Q220 5°CD. 5% R )220

Question Number : 53 Question Id : 4509385973 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

It interferes with the transport of the neurotransnutter. dopamine.

20 BIDS O G DT80 Saerd SE50 BOT0EN0H.

Options :

Morphine
PSR

Heroin

2FTOD D



Cocaine

5§80
4. =

Question Number : 54 Question Id : 4509385974 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following

Drug Effect
A | Morphine I | Depressant and slowdown body functions
B | Herom I | Produces a sense of euphoria and mcreased energy

C | Cannabinoids | IIT | Sedative and pain killer

D | Cocaine IV | Effects on cardiovascular system

1508 R 2BIGI0G

NVEALHTATVIINW CATARNAW
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Options :

A-TII B-1 C-IV D-III



A-1IL B-IV C-III D-I

Question Number : 55 Question Id : 4509385975 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In female cockroach. ovaries lie in these segments

) =] e
e3¢h SO0ES [ DBEFeNS) POdEFeD

Options :

Mesothorax to 4™ abdominal segment

05598 0 OB EHBO ABNEY 4 o DOGEAO HHBY

1. %
Last four abdominal segments

. &S50 B, @ TEeNth VoSBT OS
Thoracic segments

. o5 podmed

3. ¢
2% to 6™ abdominal segments

v 2SS0 GNE) 2 DO 6 0 DOEBO BB

Question Number : 56 Question Id : 4509385976 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A): In compound eves of cockroach superposition images are formed.

Reason (R): Absence of retinal sheath i ommatidia.
N80 (4) : HD0E H0oE JE@en b P2 (e DorOd 0 )HTow.

060 (R): N@0TOS FSaRO) ST GOG.
Options:

A and R are true. R 1s correct explanation for A

A NSO R A20.ASR AT added

A and R are true. But R is not correct explanation for A

AN RARO. 55 A SR AT adaddea 3¢

A 1s true. But R 1s false

- A D230, 550 R 020 5°C0

A 1s false. But R is true

4 % AVBOFC. AR B0

Question Number : 57 Question Id : 4509385977 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the following and pick up the incorrect statements:
[ Incommensalism both partners are benefitted due to each other.
II.  Inamensalism no partner is benefitted.
III.  Inparasitism. one partner is benefitted and the other is harmed.

IV.  In competition both the partners are benefitted

806 €30 @¢hH0Hd0 TR HO5R @oFeD Hlododk.
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L D020 2riar i 2906 b 08 o).
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Options :

(1)
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I1. II1

I IV
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4.

Question Number : 58 Question Id : 4509385978 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the nekton trom the following organisms

8005 DTS 2HoOS ST & h8ood.
Options :

1.



Gerris

ile)s)

Volvox

J°€rf5)
2. %

Dviiscus

Dineites

B5Ed)
4, %

Question Number : 59 Question Id : 4509385979 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List-1 List-2
A | Particulates |1 | Sulphur dioxide
B | Scrubbers II | Eutrophication
C | Incinerators | III | Ultra violet radiations
D | Aging of lake | IV | Electrostatic precipitator
V | Hospital wastes
1508 aE3Q BSHGH0E
2I00-1 20 -2
A Bedrd dTren |1 | 030 Boirs)&
B | 20 en 11 TOW AR TS

C | 25086860 aholeren | III | e98 DereT ared D80

D | S8 0850 IV | |5 ¢35 (aerd

V| &80)¢00 253D

Options :

A-IV B-1 C-V D-II

1.+

A-IV B-I C-III D-II

A-IT B-1 C-IV D-III

A-1 B-IV C-II D-V

Question Number : 60 Question Id : 4509385980 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Prorennin is activated by

FBLS D &BES50 T
Options :

Enterokinase

DOL3T TS

Hydrochloric acid

| EBF65 eso
3 v : .
Trypsin
& B
4% 1320

Question Number : 61 Question Id : 4509385981 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Statement I Volume of air inspired or expired during normal inspiration or expiration is called tidal

volume.

Statement II: The volume of air that remains in the lungs after normal expiration is called residual

volume.
90301 FEH G B ATTOS DR BT SBOFD ™
DSVOITERR), DBO FOrs ©0erd)
9030 FTEH AFTL0 STid ANERHOS MO &od T

¥4

DONPEPR) BB 500 OTEI0 @O

Options :

Both the statements I and IT are correct

070 L II QT e

1. %
Both statements I and IT are wrong
, 5 SOTOLI QDO 5%
Statement I 1s true. But I1 1s false
- 030 I D20, 550 II D230 3°¢0
Statement I 1s false. But II is true
. @040 I D30 0. 520 II 30

Question Number : 62 Question Id : 4509385982 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List-1 List-2
A | Valve of Thebesius | I | Left atrio ventricular aperture
B | Eustachian valve | II | Opening of coronary sinus
C | Mitral valve IIT | At the base of left systemic arch
D | Aortic valve IV | Opening of post caval vein

V| Right atrio ventricular aperture

1508 e 285D 0d

20-1 20 -2
A | BBIOHR Ee0 | | e 805 2665 G050
B | SRl D00 §00 | I | 8858 §3¢ G010
LS S0 I | Dchedd Tars o0 w&erio
D | s0s3¥e0 a0 | IV | H80FR0" $01830
V | 506 505 2665 $ol8o

(g

Options :

A-I1 B-IV C-1 D-III

1.4

A-TV B-I C-V D-II
2. %

A-II B-IV C-V D-III
3 %

A-TII B-I C-IV D-II
4. ®

Question Number : 63 Question Id : 4509385983 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Assertion (A): Reptiles and birds adopted uricotelism

Reason (R): To conserve water
DFIB0 (4) : HBHYreN, HHen ArssE3Nz0 B edirerdo Tomraw
S0 (R) : 83 ¢

Options :

A and R are true. R is correct explanation for A

v ANBAN R A20.A SR D odded

A and R are true. But R is not correct explanation for A

A NBAN R A20. 57V A SR A0 0882 3°C0

2 %
A 1s true. But R is false

- A Q230. 5% R Q20 5°CD
A 15 false. But R 1s true

4w A Q20 5°CN. SO R 020

Question Number : 64 Question Id : 4509385984 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the correct statement related to calcium ions i muscle contraction

40050 0SS 5:OAH0 BATIOH H020H0D HOTS ©oFR) HBotod

Options:



Detaches the myosin head from the thin filament

DA 50680) DO DATV® B (FOHN SORA0TIEI0

Binds to troponin to remove the mask of active sites of actin for myosin
ETFAR & 220H0IDBINED DT FEE DES Tedds

e 2arQe8ae)Eow
2.¢

Activate the myosin ATPase by binding to it

DT ATPase &) Tedad§ DT 0w

Prevents the formation of bonds between myosin and actin

D5R SHOCI ATV 2EI5 VOTTEN G IE0E D BaPon

Question Number : 65 Question Id : 4509385985 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

It acts as only inhibitory neurotransmitter

& 75°0 @580 QBE 9 TITEOMT 3¢ D BYOH
Options :

Dopamine

DS

1. %

Glycine

oo
2.4 =



Serotonin

VEEDS
3. %

Acetyl choline
, VTS §FOD

Question Number : 66 Question Id : 4509385986 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Assertion (A); Neurohypophysis of the pituitary gland releases a hormone, which is helpful for
child birth
Reason (R): Neurohypophysis releases relaxin, which contracts the uterine muscles during child
burth
B0 (A): 00 (foh Tod, SrOTIPR GO TR FO
FH2ITRE S )hehod
50690 (R): 00 3P R0 Ber8 IR BT $F82:00 DHEO TR0, 9B (S
Jvohod' fomydad oo HoSTR) (HTNN0A

Options :

Aand R are true. R 1s correct explanation for A

A NSCN R A20.A SR QDA e

1. %

A and R are true. But R is not correct explanation for A

AN R A20. 5 A SR AT a)adde 57¢

3.¢



A 1s true. But R 1s false

A D220, 550 R 0230 5°%CD

A 1s false. But R 1s true

A QD230 5°C0. 5% R )220

Question Number : 67 Question Id : 4509385987 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Match the following

List-1 List-2
A | Amal natriretic factor | I | Stimulates the secretion of HCI
B | Erythropottin 1T | Stimulates the pancreas to secrete digestive enzymes
C | Gastrm III | Lowering the blood pressure
D | Cholecystokinin IV | Stimulates the formation of RBC

506 30 26806t508

201 2082
A| JES0HO Te3 oBES e880 |1 | HCI PR [WB2080
B | OIS >ontds I | Sehandy (0200 24 0B
D20 DA
Clmas I | 58 1330 ot
D | §BEAN IV | Q& 88 865850808 00008

Options :

A-TI. B-III C-IV D-I



A—TII. B-1 C-IV D-1II

®

A —TILL B-IV C-1 D-II
3.v

A-II, B-IV C-1 D-II
4. %

Question Number : 68 Question Id : 4509385988 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

One of the following 1s secondary lymphoid organ

1806 ¢3S & 5305 O0aTFoN& 95505065550
Options :

Bone marrow

L)

TV

ugy

Thymus gland

B (08

Bursa of Fabricius

220 al20 0N



Question Number : 69 Question Id : 4509385989 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identity the incorrect match

B I o)) 365D Hlohod
Options :

Interferons — Produced by virus infected cell

OB DO ) — BER DoBe Searen coed)ed T ow
1. %

Interleukins — Produced by erythrocytes

. R0ESETEER ) — GBS SeTren coed Jed Do
2. %

Paratope — Antigen binding site in antibody

. T — (8323580500 9B T | BT 235050

Epitope — Antibody binding site in antigen

JDE’D — | DB T8 €9eh BT (De3235E 230530
4. %

Question Number : 70 Question Id : 4509385990 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The state of cease of menstrual cycles in women is called

O~

=3 nf st S
(RO 200D B0 A DS

Options :

1.



Menopause

o S
Ovulation
©0& e 30

2. %

Menarche
Fertilization
DOEEB0

4. %

Question Number : 71 Question Id : 4509385991 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion (A): Myometrium is an important layer of uterus

Reason (R); Myometrinm allows the uterus to enlarge in pregnancy and causes strong contractions

i i

D360 (A): Hom 3o S’ $0658 &8 (ZTRFHESAD0) @8 SDSRSE

S6R0 R): (A6)TOH Qoo omEao NBONEAS, (NN
BGR H0STOD EDN0GOS I SHTFIESoHo Sch)chehod

Options:

A and R are true. R is correct explanation for A

- A NOA R A20. A8 R QDA Daded



A and R are true. But R 1s not correct explanation for A

A DGO R A230. 55V A SR A0 20882 5°¢D

]

A 1s true. But R 1s false

A Q20. 50 R 0230 5°¢0

A 15 false. But R 1s true

A Q20 50D, 550 R 030

Question Number : 72 Question Id : 4509385992 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Amniocentesis 1s a clinical procedure to detect in unborn baby

G015 HBE (1651 39S DA HB0ErAE TR ATEE HOT s
Options :

Brain disorders

L, D S aren
Heart disorders
- Hhoz Saren
Genetic disorders
M w2
3 v 0] €9 ) edehy e



Kidney problems

o307 €9 2D0CH oDIFEN

Question Number : 73 Question Id : 4509385993 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Haemophilia B 1s a

B OO B 28

Options :

X linked dominant disorder caused due to the deficiency of Factor IX

SPSE0 IX €590 9O BT X DTy 23erdes e50e

X hinked recessive disorder caused due to the deficiency of Factor IX

5550 IX 6500 558 DBIT X DeTexf) ©0ehtes 95

X linked recessive disorder caused due to the deficiency of factor VIII

S50 VIII 500 SO BT X dsTedxif) e0ehed eoHes

3. %
X linked dominant disorder caused due to the deficiency of factor VIII
52550 VIII €500 S0 DBIT X d5rexi) 23ordes eadaes

4. %

Question Number : 74 Question Id : 4509385994 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In this disorder. the person exhibit characters like short stature, gonadial dysgenesis. webbed neck.

broad shield like chest
& 0308 &8 Sehen FEM Gocitio, DasTen SO 0S50 Tods &b,
¢k Fehen ), Fain) 2P0 LD GO0 03 ©F eren SOR Gord

Options:

Klinefelter’s syndrome

58 R0 oG

1. %
Turner’s syndrome
3535 oG
2. ¥ "
Downs syndrome
3D OG0
3. %
Edwards syndrome
2¢% 50 DolED
4, ®

Question Number : 75 Question Id : 4509385995 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Identify the autosomal colour blindness

Dord Do) SFT0E 50 (h80oh0dk

Options :



Myopia
SeluAlesy

Tritanopia

[ BodS 0ST
2.¥

Protanopia

(€S DA

Deuteranopia

COSTBIES DA

Question Number : 76 Question Id : 4509385996 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the correct statement

DB @07, MhBotod
Options :

Chromosome 1 has the highest munber of genes in human beings

SPSHAS 185 18 00 @HE HoPS 25O EOR S0

1.4

X Chromosome has the fewest genes in human beings

STSIHNS X (FRrE'd 950 oS B EOA G0enod
2. %



In human more than 50 % of the genome codes for proteins

SIS’ 50 % E0T) AEOMT 20 5HEN (30D HOTBraw

3. %
Smallest known human gene codes for dystrophin
, 2963 D) 55) B §eY BT DD D HOTBRNOS

Question Number : 77 Question Id : 4509385997 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion (A): Amimals recapitulate the biochemical aspects of their ancestors

Reason (R): Mammalian embryo first excretes urea, then uric acid and finally ammonia
D)0 (A): 20YON BSTFADAE 020 DARTFOES el 3205500 0(ebed
T YH0 TNHOETON
SUE0 (R): oS8 D00 O B ANrOO5D, Shared ARr6S ey, DG
SRR DAGD0G

Options :

A and R are true. R is correct explanation for A

ANBAM R A20. AR IODD DdGeD

1. %
A and R are true. But R 1s not correct explanation for A
A NBAMN R D20, 55 A SR OB a8 5°¢H
2. #

A 1s true. But R 1s false

A D20, W R 020 5°¢0



A i1s false. But R 1s true

A Q230 5°CN. 5% R 220

Question Number : 78 Question Id : 4509385998 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the correct statement with regard to evolution of man

30°036d DBETATRNE DODOHOD) VB @oFR) H8oodk
Options :

Divopithecus was more man like

(BATDAED S73HB HE &oTBO

1. %

Ramapithecus was more ape like

TS0 S8 B 53 &) &oBo
2 %

First human like being was Homo habilis
v 053 TSI AR NS 82D DU TR

Early modern human of European region is Homo erectus

, DI DB | 0erd 8 TOOD &) e8cNAE H57°8HCD

" ;

Question Number : 79 Question Id : 4509385999 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The first transgenic cow Rosie milk 1s enriched with

TNEES 28 DB505 3:9-8 0 aPeS 9BEOT &) S0
Options :

Alpha lactalbumin

Lo BT DRSADVRMNIN]

Dystrophin
S TR0

Oxytocin
TERTARATS

Human chorionic Gonadotropin

353053 §°BA5rQE Tor&E (€5 DS

Question Number : 80 Question Id : 4509386000 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Tall T-wave in ECG indicates

ECG S 8BS T-$50(10 rDotnSd

Options:
Hyperkalemia
y SPHEODOST
1.



Hypokalemia

TTFSOMAST
Hypercalcemia
- PR ta i DR
Tachycardia
L e85 asy
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Question Number : 81 Question Id : 4509386001 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the errors m the measurement of the mass and side of a cubical block are 2% and 1%

respectively. then the error in the determination of the density of the material of the block

28 s B (G508 D00 Do Sosod Baren BN
206 808 1%, @00 By ey Aro(cde BE oS B0

Options :

8%
1. %

6%

3%

5%
4.

Question Number : 82 Question Id : 4509386002 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The relation between velocity 'V'(in ms ™) and the displacement 'y’ (in meter) of a particle in

motion 1s 2V = v'm. The acceleration of the particle is

$0:50 S €565 2.8 €620 BE) K0 'V (ms1S) SHBA 77 (5030 ' (eE 5)

oGS D000 2V = /37 + 32x. 580 38, ¢ 58630
Options:

: e
| % 32 ms



8 ms~?

16 ms 2

4 ms™2

4.+

Question Number : 83 Question Id : 4509386003 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The velocity of a boat in still water is 13 ms™. If water in a river is flowing with a velocity of

5 ms™. the ratio of the times taken by the boat to cross the river in shortest path and shortest time

15

D08 DS 2.8 HcbeS o B mst 2.8 SOSD DE Smst Sifod ENISEGAA VY

085 SO, B Grdain SHOKD EAa) TS TrENIE) N SEre A
Options :

12:5



Question Number : 84 Question Id : 4509386004 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A body 15 projected horizontally from the top of a tall tower. At a time of 3.5 s from the projection.
the horizontal and vertical displacements of the body are equal. The velocity of projection of the
body is
(acceleration due to gravity =10 m )
JBS 360 2 0B 2.8 S0 § B2 dSroBE0T (9520 TaHGSE. (820
D 3.5 s TN A, ey T8 SP0683 Bt §ae 02
T B0FVEN NP0, e (DT 8 Ffio
(t0eh ¢ ¢ 685690 =10 m s?)

Options :

30 ms!

15 ms!

17.5 ms?!

Question Number : 85 Question Id : 4509386005 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The apparent weight of a girl in a moving lift 15 25% more than her true weight. If the hift starts
from rest. the distance travelled by the girl in the first 2 515

(Acceleration due to gravity = 10 ms™?)
2,85E000t09) O S ) 2,822 5935 2855 83 A2 25 50 25% B0,
O AT D Do 2cHenTBS, erdE G Boch VEHOS (HarHodd

cirdo (Ded 5 ¢ 55690 = 10 ms™2)
Options :

25 m
1. %

10m

S5m
3.¢

15 m

Question Number : 86 Question Id : 4509386006 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A body slides down an inclined plane of angle of melination 30° with a constant velocity of

10 ms ™. If the body is pushed up the same plane with a velocity of 20 ms™, the distance moved

by the body before coming to rest is (Acceleration due to gravity = 10 ms2)

TENER0 30° o) 2.8 N SO0 28 ey 10ms™ YESH0S 3 hHd)H. &
503D 20ms™! FoS &T S0DS TEWX, V0% VB TEFDEI)ES s
80O &rdo (e s e 5560 = 10 ms ™)

Options :



10 m

1. %

I5m
2. %
3 ¢ 20m
4% 30m

Question Number : 87 Question Id : 4509386007 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

An elevator can carry a maximum load of 2000 kg (elevator + Passengers) 1s moving up with a
constant speed of 9 kmph. If the frictional force opposing the motion is 5 x 10% N. The minimum
power delivered by the motor to the elevator 1s

(Acceleration due to gravity = 10 ms™2)

9 kmph VBHGS 28 DO 28 ODD HB0m 2000 kg OJOD +
HOTSHeN) AN ST I, & IOTR) HBFL0HNS)
062005 x 10° N a0 37ErD, JOED 8 ©0B0IS0RS §30 Frandso

(thced ;8 20820 = 10ms %)
Options:

26.25 kW

52.5 kW



31.25 kW

62.5 kW
4.

Question Number : 88 Question Id : 4509386008 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A ball strikes a horizontal floor at 45°. If 25% of its kinetic energy 1 lost n the collision. then the

coefficient of restitution 18

2,5 208 882 Jrodd derd) 45° §008 G50, & ©dirdod T 8
§85 259 S oS (eI (heaso

Options:

B | =

i =

{:-\
)

2. %

-
]

|



Question Number : 89 Question Id : 4509386009 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A solid flywheel of mass 20 kg and radius 100 mm revolves at 600 revolutions per minute. If the

coefficient of friction 15 0.1 and to stop the fly wheel in 3.14 5. the force to be applied against is

approximately

20 kg |9350°3 aDB0% 100 mm 75PQ0 SN 2,8 aed He3are) L350 Dadalas 600
EPeD Do) B. Sifed Me¥o 0.1 ©ond & ABFeS BTV 3145 OF

B8 TS §BOEOM GHRTAOISONN OO0 AT

Options :
30N

1. %

20N
2. %

300N

200N
4.

Question Number : 90 Question Id : 4509386010 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A torque of 10 Nm s applied on a wheel having angular momentum of 2 kg m®s™%. The angular

momentum of the wheel after 4 5 15
§'300 (9530 2kgm?s™! DA 2.8 50D 10Nm © &rD) & |HErAoT .
0N 4 s ST e 150 B0%) Feak |3S53M0

Options :



40 kg m?s 1

42 kg m?s~1
2. ¥

4kgm?s7?

42 kegm?s™?!
4w gm-s

Question Number : 91 Question Id : 4509386011 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The displacement of a particle vartes with time as x = 4 sin 3wt. If 1ts motion 1s simple harmonic.

then 1ts maximum acceleration 1s

5008 PO 28 $00 GY FIB0¥0 x = 4sin3et. 8 §090 B SO0

NOFTT IS, T (10 & 50690

Options:

12 w?
1. 3

36 w?

144 w?



24 2

Question Number : 92 Question Id : 4509386012 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The mass ‘m’ oscillates in simple harmonic motion with an amplitude 4’ as shown in the figure,

The amplitude of point P is
HOS Trad NEFFTE BS80S o) w (33507 0Ly 50 HOME 4

90NS, P HO) T308) E020 NS 20eh?

/|
/
/ Ki Ka
 AN—— WA
/ P
/
Options :
K;A
T
KA
Ky
2. %
KA
3 % K; + K
K>A
K; + K,

4.+



Question Number : 93 Question Id : 4509386013 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The gravitational field due to a mass distribution is £ = — is along x-direction (K is a constant).
X

Taking the gravitational potential to be zero at infinity. its value at a distance “x”1s

o~ G o -z K =]
0850 IS 28 (A58 oy a8y HOST|0 E =~ K orosaw).
) B X

9S0SERE0S 10 Dode SO DB FRANS TS, & (rE0S T
NIV

Options:
K
X

1. %

Question Number : 94 Question Id : 4509386014 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The Poisson’s ratio of a material s 0.4. If the force 1s applied to a wire of this material, there s a

decrease of cross-sectional area by 2 %. The percentage increase m its length 1s
28 HrGo T8 T3S A8 04, & Hdod Tahahs i 2erd)
HETADSYD. T DSBS IFO0S SHASO 2% B TR FHS

ARDAL TB0 2)0Oeh?

Options :

3 %
1. %

2.5%
2.¥

1%

0.5 %

Question Number : 95 Question Id : 4509386015 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A U-tube 1s partially filled with water. O1l which does not mix with water is next poured into one-

side of U-tube until entire water rises by 25 cm on the other side. If the density of ol 15 0.8 g em 3,

the oil level will stand higher than the water level by

2,8 U760 TS50 IS D092BI0. IS DB TSNS Ber),
A5, U0 S0 b 080 2.8 3e 25 cm 0% JerS S8F BoUSB
2006 7)) FF6). B0 T0ELr0|R6 0.8 g em3, UFDOS D B sHEam AES
D8 0B 06 HAS G0EN0A?



Options :

6.25 cm
1. %

12.50 cm
2. ¥

31.75cm
3 %

63.50 cm
4, %

Question Number : 96 Question Id : 4509386016 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A substance of mass m requires a power wnput of P to remain m the molten state at its melting
pomnt. When the power is turned off, the sample completely solidifies in time ¢, The latent heat of

the substance 1s

m (555078 10 Drgo ) [GNHD TS0 SO [BSVBS TSNS SRS

]

: =S ) 5
06D P, S8IT AOPZ R, 8 H00 't $00S AT HSIN08. s, &

G0 &), a0

Options :

1.

PE

m
o



m
Pt

Question Number : 97 Question Id : 4509386017 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In which of the following thermodynamic process, the total amount of heat supplied to the system

15 only used to rise the temperature
18065 D) &) GANBE (HEANES . S5:595 BN A0 &40 DN 3500 T
G 0o sl eh 20 OV GBS0

Options :

Isothermal process

. Qe (DSo%
1.
Adiabatic process
L« ORI HEAD
Isobaric process
. DS 1HBAH

Isochoric process

y v Qo) DB (215D



Question Number : 98 Question Id : 4509386018 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The oxygen gas of 5 mole 1s heated at constant pressure from 300 K to 320 K. The amount of
energy spent during this expansion 15
Foroxygen Cp =7 Cal Mol
Cv =5 Cal. Mol ™o¢?

D8 B0 ¢ 5 IrHO 882D oD 300 K afifed Do 320 K § 3k
T, o 5806 26, edhs 45
838120 o) p=73503rd ¢!
Cr =535 3rS oct
Options:
200 Cal

1.4

250 Cal

350 Cal

100 Cal

Question Number : 99 Question Id : 4509386019 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A gas of ratio of specific heats. y = 3B heated isobarically. The percentage of the given heat used

1n external work done 1s

A

[ty

95570 D419 ¥ :g o) 2.8 A S0ddS0 I8 38 T, ol
BOOENE D) GR0S EHBIHIG Tehadd
Options :

15 %

25 %
2.

50 %

60 %

Question Number : 100 Question Id : 4509386020 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The ratio of kinetic energy of molecule of neon to that of the oxygen gas at 27°C is

Lint
-0

27°C 56 DOSTS WLy 1348 OGN 98 1230 e (fe3dS © DA ye

Options :



Question Number : 101 Question Id : 4509386021 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A metal rod of 50 cm length s clamped at its midpoint and 1s set to vibrations. The density of that

metal is 2 X 10%kgm . Young’s modulus of that metal is 8 X 10*Nm 2. Fundamental frequency

of the vibration is.

50 cm PO 28 S 8@ D555 Do ¢ HROD LoR0NTTH. & &'

P0(C369 2 x 10%kgm 2 0HON D850 8 x 103Nm 2, &R §02390 TS [P 2Fns

)050.

Options :

2500 Hz

2 kHz
2. ¥

2.75 kHz
3. %

200 Hz
4. %



Question Number : 102 Question Id : 4509386022 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A lens with refractive index 3/2 has a power of +5 diapters in air. If it is completely immersed in

water, its power 1s (in diapters) (Refractive index of water 15 4/3)

(856505 18380 3/2 > 2.8 ¥6350 reGsek0 MO sy ych 45 (AT IS
AT S 200Dk TR Pansesn? (Soird )

(83 15285505 theatsn 4/3)
Options:
1.25
1.¢
Ak
2. %
1.35
3. %
~1.20
4, %

Question Number : 103 Question Id : 4509386023 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two light sources of intensities I and 91 produce interference fringes on a screen. The phase

; . W i : i
difference between the beams is - at pount A and m at point B on the screen. The difference between

resultant intensities at point A and B is

[ 008 9 edsen o Do Toszssey B0 Sieddn S0
D)D), & B Toe 2)ozre) D BEZ A DO HO ; 57250, B
2000 6 1 ATBA0 DG IG0D. NS A OO B A0 DG 81 O
3508 3¢50,

Options :

21
1. %

41

6l
3.¢¥

8l

Question Number : 104 Question Id : 4509386024 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A rectangular coil of size 15 cm X 20 cm 1s placed in XY plane in a region of uniform electric

field 3 x 10% kVin? then the electric flux through the coil

15 em X 20 em SO i) 2.8 Y D |rs s S HED 3 x 108 kvt @@fwf‘ﬁ

(o) % B8 DS 310 S XY 006 G0, R How [HAT0D DS

ARG



Options :

9 Vm
1. ®

90 Vi
2. ¥

900 Vi
3. %

99 Vm
4, %

Question Number : 105 Question Id : 4509386025 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A parallel plate capacitor has two plates of area ‘A’ separated by distance ‘d’. The capacitor 1s

charged to a potential difference V" and the battery is disconnected. A metal plate with area ‘A

. d, . i
and thickness 58 mserted between the plates, so that it 1s always parallel to plates. The work done

on the metal slab while 1t was mserted 15

2,8 AP0edd 08 Saratd K B0 o8 DO Ardo @ 308 FTe50 A’
Sart0 &) V' FQ0HO B¢H0% 83960 D, 2150 SORoT. ‘A 3T50.

(RS =B

3060 Ao 28 aFHOE% Sared Bodh D8 s daydr ddrosdorr
&OTED TR0, HOED S5 & Sardedi @8)d0S D083 260 H
Options :

g, AV?
4d




£, AV2

2d
2. %
g, AV?
d
3. %
2 g, AV?Z
d
4, %

Question Number : 106 Question Id : 4509386026 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

“Introduction of small charged sphere info a larger one. we can keep piling up larger and larger

amount of charge on the later” — This s the principle of the
28 DO FH0SE T D) M) (ST RIORSHD, arrsiisos o8
B0 8390 DWIRTOLD DIy -3 & (506 H6EG0 TBg) Ao

Options :

Tangent Galvanometer

EFOBOE Trer s d

AC Generetor
520653 DS 25065

3.¢



Van de Graff generator

T & (Mo 235060

Envolope detector

- w ad
4 eI )9S 580

Question Number : 107 Question Id : 4509386027 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What 1s the equivalent resistance between the points A and B of the network.

SO0HOES BrHDAS A HBM B DY 055 DO DEFLE0 Densd

A i 20
—AN—— W\ M
20 | |
103 7, o
T ok
100 ¥ 10
—\A— A—A—

< <
180 f’ S S50
| /220

Options :

57
1% 7



Question Number : 108 Question Id : 4509386028 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A wire of resistance of 0.2 (1/cm 1s bent to form a square ABCD of side 10 cm. A similar wire 1s

connected between the corners B and D. If 2V battery 1s connected across A and C. the power

dissipated is

0.2 0/cm © DB DS e 10 em 292350 S ABCD 5B 95817k,

B8 DTS SHD BHBOMD JHE H3ane S5 @B 2V ©

25638 Q A SHBOM € g (HF DS, &1 S0aD0S 55D Toh 50

RIOVNE

A B
D C
Options :
4 W
1. %
1W
2. %
2W
3.¢



8w

Question Number : 109 Question Id : 4509386029 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two charged particles of same charge but different masses myand m, are projected with the same

velocity V normally into the uniform magnetic field B as shown in figure. The maximum separation

of the particles is
00C) 305 (3577 my D0 my OB e

g3Ten 40 POl V Odrd Irod 808

0o 000 00O O0J

0 0 o 0 00

906 360 B § 00201 HE08 rs o
533 DT, & B S0 eSS KB P80 T UIE Rmgte

Options :

| (‘mz = m1)V|

[qB|
1. %
|[(m>; — my)V|
|2gB|
2. %
|2(m; — my)V]

|(m; — my)V|

|4qBl|




Question Number : 110 Question Id : 4509386030 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two bar magnets A and B are identical and arranged as shown. Their lengths are negligible when

compared to the separation between them. A magnetic needle placed between the magnets at point

p gets deflected through an angle '8 under their influence. The ratio of distances d; and d, is

A SO0 B ©F Boh HGS N7 SOTOHTL0TEN HE0S TP DO
9:8IBTON. SOFTODTL0TD PYen 7 s drdod OIS
G25.50900. WOLRFLOSITDED TOW ©ADI060 NG p Do) G
GO0, DS OOHL0BO (N2r0 SO 8 Fe0d HH0S BrS Ao
9235383530 TODSD. dy HOOI d, BFT°® DA A )&

A
A * _
P
= N
;/ B,
N
€ >< >
di 4
Options:
(2 cot El)lf"3
1.
(2 cotB) Y2
1
(2tanB) /3

3. %



(2 tan Eljlfz

Question Number : 111 Question Id : 4509386031 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A super conductor exhibits

983 T80 (D80T 580
Options :

Ferro magnetisin

k¥4

DO 9057 0eheh 5550

Para magnetism

PR OAETOMN RO LT EINWY

Dia magnetism

CHO® @O 0ched 8550

Ferr1i magnetism

D0 OO 0Hed 550

Question Number : 112 Question Id : 4509386032 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A helicopter has metallic blades with length 4 m extending outward from the central point and
rofating at 3 revs ™. If the vertical component of earth’s magnetic field is 40 pT . then the emf

mduced between the blade tip and the central point 1s

Ser0d ToHAS 4m SPdie) TOTNO TLe0, s Doty o
A 3revs™? Fod B0 Tamow. e eohamod 3 S8z
02030 40 uT SO, BE 8 Doy B s Doy e (O
emf

Options :

3.14 mV
1. %

2.83 mV

16 mV

4 6mV

Question Number : 113 Question Id : 4509386033 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In a series LCR circuit the voltage across resistance of 2000 Q 1s 200 V and the resonant frequency

0 is 400 rad s, The capacitance C value is 4 iF, At resonance the voltage actoss L is

28 LCR (363 S00H0S 2000 @ BTSN Dudbe 3¢ SBB 200 V. @dHawed
Tede)di0 s 400 A 7. TTFVBRY e 4 pF. BOTG0 3O L
ANGOBWAIINE N

Options :



1. ®
, x 625V
625V
3. %
625V
4.v

Question Number : 114 Question Id : 4509386034 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The electric field for an electromagnetic wave is given by E = 40sin(kZ — 6 x 10%), where
magnitude of Ey is in Vi, The magnitude of wave vector k is
2,8 50D 08 B0 BB VDI S (e E = 40 sin(kZ — 6 x 10%),
E, 2005 Vil ¢S 608, 80 SOF (k) Ty e

Options:

Sradm™!
1 %

45radm™!
2. ®

2radm™?!



12 rad m™1

Question Number : 115 Question Id : 4509386035 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The ratio of de-Broghe wave lengths for the electron and proton moving with same velocity 1s

given as (m,: mass of electron, m, : mass of proton)

2,8 S50 B0 JOTS B RS © B8y & (51 (de-Broglie) 301
385500 A DV (mg: JOLF (3035078, my :(SFERQ ((Ie50°3)

Options :
Mly: M
1, o M
Mg: My
2. %
2,
- Ing:imy
3. %
2.2
mMpy: Mg
4. %

Question Number : 116 Question Id : 4509386036 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The ratio of kinetic energy to the total energy of an electron n a Bohr orbit of hydrogen atom 15

5D 88 55 BB H0e3red TR08y HB2AE HOOM ey FHe A



Options :

1:-1
1.4

| e
2_33

—1:2
3. %
ax 2F70

Question Number : 117 Question Id : 4509386037 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The rate of a radioactive disinfegration at an instant is 108 s™. The half life of the radioactive

sample 1s 3.3 X 10*? 5. The number of radioactive atoms present in the sample af that instant of

fime 1s

28 8800 . 2.8 DATrE8 Hdo Ging) §ahden 1087 & nrrdo Ty o
208 FO 33x10%s o §nod TARres amrdod O
20TEIN® ODS

Options :

4.7 x 10°

3.6 X 10%°

4.7 % 1020



4.7 x 10%°

Question Number : 118 Question Id : 4509386038 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two amplifiers are connected one after the other in seres (cascaded). The first amplifier has a

voltage gain of 10 and the second has a voltage gain of 20. If the mput signal 15 0.01 Volt. calculate

the output AC signal

B0t STOD 250 IHE 2883 S LOFD (©0Te™). I SP%o
SR 590 10 5T, BO) G50 S Te3 596 20. DF 908650 0.01 Volt 900@ A%
ac 08 S22

Options :

oV

1V

2¥

Question Number : 119 Question Id : 4509386039 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When a transistor in CE configuration, the resistance connected at collector circuit and base circuit

N et S e L = VA el A st
EFIND G GTPO DEN0S BRI, T V80 H00hoS Eodad
B0 HBOM BHFE HOADOS ABTEN SENT 10 0 HOAK 8 0; & (E7R D ac
DTT S8 o = 14 €00 5 D3 998

Options :

15
1. %

Question Number : 120 Question Id : 4509386040 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A carrier wave of peak voltage 16 V 15 used to transmit a message signal. What should be the peak

voltage of the modulating signal in order to have a modulation mdex of 75%

2,8 D034 V0SB (RS0 TOHERE 16 V 30 ST2 o w8 SdBom)
G0N0, SAFDIBAR D 75% G0octrds SrciBeoh o030 3
ST Jos

Options :

8V
1. %



10V

2_ w
- 12V
14V
4, =
Chemistry
SectionId : 450938130
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Number of Questions : 40
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Maximum Instruction Time: 0
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Question Number : 121 Question Id : 4509386041 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The ny and np values for 3% line of Paschen series of hydrogen spectrum are respectively

TEBS 3G H0SR TR FSS'D 3 o5 B0 0y 0BG my EVIED SIEIT

Options :



Jand 4
3 S80S 4

3and 5
3 o805 5

3and 6

v 3 0B 6

2 and 5

2 0805 5

Question Number : 122 Question Id : 4509386042 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The wavenumber of first line of Lyman series of hydrogen spectrum 1s equal to wavenumber of

second line of Balmer series of X™ ion. What 1s X* 2

EES SPH0S R B 1363 cdeS Ba oS, X ©alrd SR ernb
1363 B0OCheS B SS0HI0DIH Deird0. X A7

2
%
a

Options :
Li*
1. %
Be’™
2. %



He™

Question Number : 123 Question Id : 4509386043 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The first ionization enthalpy (IE;) and second 1onization enthalpy (IEz) of Mg(g) are 178 and 348

k cal mol™ respectively. The energy required for the reaction Mg(g) — Mg™(g) + 2¢”
(ink. cal mol™) is
Me(e) GBNE) (906 OTFTEAS 0T (i), &S00 STIFTEAS 2050
(IE2) eI BT 178 sBOMD 348 k cal mol™ &4 (800 Sarahed thizhh THOR
35 (k cal 11101_163638)

Mg(a) — Mg (&) + 267

Options :

+170
1. %

+526
2. &

=170
3. %

=326



Question Number : 124 Question Id : 4509386044 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two statements are given below

Statement I: Octet theory accounts for the shape of the molecules

Statement II: Octet theory does not explain the relative stability of the molecules

The correct answer is

1505 BOCD aF5PEEN Ao §2268090)

53 I @08 DT0H0 3690 8359e0D (HO0D DGO

5208 IT: 9518 DT°00 MY DS, VT DGO

QDO RITTTI0

Options :

Both statement-I and statement-II are correct

& §5-I s AN a3 $$-11 BOCAT DO

1. %

Both statement-I and statement-II are not correct

a3 5 5-1 SN AN a7 §8 -1 BOCT” DEQDN) 5%
2. %

Statement-I 1s correct but statement-II 1s not correct

o520 5-1 AOQDAE 55 a5 - DBQDOE 5°CH
3.

Statement-I 1s not correct but statement-I1 is correct

a5 §-1 DBQAE ¢ 55 o S S5-I HEADIE
4.

Question Number : 125 Question Id : 4509386045 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Arrange the following molecules in decreasing order of their dipole moments
H>O. NFs. H>S. NH3
1806 @)D %3 B39 127080 8T 18008 G106
H>O. NF3. H»S. NH3

Options :

H>O = NF3=H>S > NH3z
1. %

WNFEF3z; = HyO = H>S > NH3
2. %

NF3 > HO=NHj3; =H»S
3. %

H>O = NH3 > H2S = NF3
4.

Question Number : 126 Question Id : 4509386046 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

For a gas, deviation from 1deal behaviour 1s maximum at

2,8 PO0Y B0 @58 (0985 H0G DHOS0 B0 T GOTE
Options :

0°C & 1.0 atm

—25°C & 5.0 atm
2.



—25°C & 2.0 atm

100°C & 1.0 atm

Question Number : 127 Question Id : 4509386047 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

At T(K). the rms velocity of methane is x ms™. What is the kinetic energy (in J) of 8 g of methane

at the same temperature?

(Assume methane as an 1deal gas)
T(K) c?f}ﬁ:) g))ﬁfﬁ ims 300 xms?, @3 fj—s%lstﬁéé JJC:) 8§g® ﬁmc‘S (‘i@'&ﬁ@, (J QJ@S) 2)0es?
(TR D B8AG) TAWIR BT D)

Options :

2R 10737
1. %
4% 10732

4 x 10 3x

3% 10 3x

Question Number : 128 Question Id : 4509386048 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The oxidation state of vanadium in RbgNa [HVy9Oss] 1s x and oxidation state of chlorine in
Ca(Cl07)y 15 y. The sum of x and y 1s
RbiNa[HV1002] & 33 §180580 B 1€ 102, S SB 381886 e
Na[HV10025] © IRG0HO &5315369 ed x DAL Ca(ClOg) & S Bed @535 o
y. 2000 7 © Ineo

Options :

6
1. %

2. ¢

Question Number : 129 Question Id : 4509386049 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

One mole of an ideal gas undergoes a change of state from (1.0 atm, 3.0 L. 200 K) to (4.0 atm. 5.0

L. 250 K) with a change in mternal energy of 60 L-atm. What is the change i enthalpy of the

process (inkJ) ?

(1 L-atm=1011)

1 376 8636) FoW) (10 atm, 3.0 L, 200 K) 00& (4.0 atm, 5.0 L, 250 K) § 0SS

S8 S Bk ©90¢BE 48 ¢ 5380 60 L-atm. & [ EAHES OGO Sr)

(K OS)?

(1 L-atm = 1011)



Options :

6.66
’I. )
2w !
3 % 707
.88
4, %

Question Number : 130 Question Id : 4509386050 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Observe the following processes

L 0;(D—0;(g)
II. N,(g) + 3H,(g)— 2NH;(g)
IMI. C(s,graphite)— C(s, diamond)
IV. N,(g 1atm)— N,(g 10 atm)
V. H,(g)— 2H(g)
VI. Temperature of a crystalline solid 1s raised rom 0 K to 115 K

for how many of the above processes. change in entropy is negative

806 1D80HOD HBIDOTHW

L 0;(D—0z(g)

II. N,(g) + 3H,(g)— 2NH;(g)

m. C(s, T RE )— C(s, BH0& )
IV. N,(g,1atm)— N,(g 10 atm)

V. H,(g)— 2H(g)
VL 2,8 03838 3000 &&l|ifed 0 K oD 115 K §0 D8R0
2 DE0HOS D038 DOIETD 33 ) Boeared 50

Options :

2

2. &

Question Number : 131 Question Id : 4509386051 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
At T(K). the value of K, for the reaction

AO,(g) + BOy(g) === A0;(g) + BO(g)

15 16. In a one litre closed flask. 1 mole each of AO2(g). BO2(g). AO3(g) and BO(g) were taken and
heated to T(K). What are the equilibrim concentrations (in mol L) of BOs(g) and BO(g)
respectively?

T(K) 56, 1800 tH580 Ke 0 16.

AOy(g) + BOy(g) =—==A05(g) +BO(g)

2,8 DB HrRS mé)a‘i& 2,57.8) 3PS 13500 AOx(g). BOx(g). AOx(g) SDBAN BO(g)
) BT T(K) H68 AT, ASTTVS ¢ BOxg) 5O BO(g) Tehcsen
(mol L1 ©65) SETP 0es?

Options :

1.6. 0.4

0467, 1.533

2.
1.533, 0.467
3. %
04, 1.6
4, &

Question Number : 132 Question Id : 4509386052 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At 298 K. the ionization constant of CN™ is 2.08 X 107, What is the ionization constant of its
conjugate acid? (K,, = 107

298 K 98, CN™ G308} 90D088e V0P08s5m 2,08 X 1076 TR O] esade)
©90DHVEGE VT080 D07 (K, = 1074)

Options:

2.08 x 108
1. %

48 x 108

48x 107

2.08x 1078

Question Number : 133 Question Id : 4509386053 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following property of D20 is less when compared to H,O?
H0 & ) 1c5:)¢0 [BOB & ¢330 D0 80 650,62

Options :

Melting point
1E9)256565 985

1. %

2. &



Dielectric constant

&£ DS BRE tHheado

Enthalpy of vaporisation

- AR RN R Te
Viscosity
) 0ed

4. %

Question Number : 134 Question Id : 4509386054 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The total number of products formed in the following reactions
e
LiNO; =—== Products

NaNOy—=— Products

Be(NO;3), —2—= Products

1BOD BE50S DB 150SFBRED B0 Hows
LINO; . SdiraaTien

NaND;;,Ln-— \Sairaaryen

Be(NO3)y; —2 = |Sairaarsen

Options :



4.+

Question Number : 135 Question Id : 4509386055 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
In which of the following reactions. hydrogen is one of the products formed?
1. Reaction of BF3 with L1 AlHy in diethyl ether
. Hydrolysis of diborane
ui.  oxidation of sodium borohydride with 1odine
1v. combustion of diborane
806 &) VE5OS . B o8 (BOSTEIZ0MT DEIB0?
i B&BSO 60 S LiAlHs & BFs 0908
i, BB 80 N0
iii. XS S FAoHo &6 7 B& ©8)8500
v, BEBS SS0

Options:

11. 1v only

ii. 1V o307 €5 o0

.....



1. 111 only

i, 1ii 6337550

1. iv only

i, iv o307 €530
4. %

Question Number : 136 Question Id : 4509386056 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the correctly matched sets

g CO - neutral oxide
1. GeO - acidic oxide
111. PbO - basic oxide

The correct option 1s

QO 2265(1PC8c0 fane e (h8owodk

i co : e5e)0 @355
i,  GeO : e300 &35 )%
iii.  PbO : 520 es5 &%

HBTS 2D HES0
Options :
1. 111 only

i, 11 $30°( €533

1. %



ii, 111 o377 €5 a0

1. i1 only

i, ii 377530

1. 11, 111

Question Number : 137 Question Id : 4509386057 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following is present in the photochemical smog?

508 SPORSTN S DO SOENOH?
Options :

Acetyl nitrate

x OVRO T
Chlorofluoro carbons
5§60 90 5°8)0 en
2. % f
Methoxy acetyl nitrate
i D8 DOTO JFE
3.

4.+



Peroxy acetyl nitrate

D08 ) QDVO T D&

Question Number : 138 Question Id : 4509386058 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
What is Ry of B in the following reaction?

B0 985S’ B GB0EY R DOEH?

A—B
cm g
12-1 Solvent ﬁmrF
T O
10-
2 ge e
6 ® ;
; o
o
0 L ® Base line
/ \ g ﬁp"\’q
A B
Options :
1. % 2
2
3
2. %
3
4

3. %



W v

Question Number : 139 Question Id : 4509386059 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Observe the following reaction sequence

1BO& 507 (8005 83D ovod

. Na Cry03
n-Propyl bromide ¢ -y
2 dry ether 773 K

10-20 atm

28 S Bb B cra0s
- |0 2 - ¥ - Y
s G5B 773 K
10-20 atm

Correct statement regarding Y is

Y § Q020500 Q80D ar g
Options :

Aromatic in nature

DE°e38 552750 EOd

Aliphatic in nature

- DEOE3E O s2d0 o d
— CO — group present in 1t
L. RS — CO — HAOTT0 91O



— COOH group present in it

S — COOH H3TET0 55 6

Question Number : 140 Question Id : 4509386060 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A metal crystallizes i fee lattice. The edge length of umit cell 1s 200 pm. What 1s the radius (in m)

of metal atom?

2,8 S0 fec 70508 916385660 ToHO. ATAE S @90 rched 200 pm.

J ¢

&P H8arene) T3P00 (m ©F) 06T

Options :

30353 x 10710
1. %

V0.512 x 10710

v0.353 x 10710

30.253 % 10-10

N

Question Number : 141 Question Id : 4509386061 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



0.1 mole of H3POj3 1s present in 500 mL of solution. The normality of it 15

0.1 TS © H3PO3 500 mL [IT5606S &5e5) BB Q) By, 7070

Options :

Question Number : 142 Question Id : 4509386062 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

1 gof XY 1s dissolved in 20 g of CgHs. The A Tgof resultant solution is 2.318 K. When 1 g of XYy

is dissolved 1 20 g of CgHg its A Tz is found to be 1.314 K. What are the atomic masses of X and

Y respectively? (Kr of CgHsis 5.1 K ke mol™)

2020 CeHs S 1 g X2 $BR0TE. )8 (°s36:) AT 2318 K. 20 2 © Cells S 1 g

XYs Q S8R0, I A Tt @0 1.314 K 7 S0 8. X DO Y © 230aie

(B50°HE0 SET a)?

(CoHs 0308, Kradeed 5.1 K ke mol ™)

Options :

42 u. 26
1. %



38u. 30u

2. ®
30u. 38u
3 %
26u.42u
4. &

Question Number : 143 Question Id : 4509386063 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The cell reaction of a cell is given below

2 Cu'— Cu+Cu”™

What is E2;; (in V) ?

(Given: Eguz+mu+ =xV; Egu+mu =y V)

2,8 a0 a0 G5 1508 @ 520505

2 Cu™— Cu+Cu®

EC, (VOS) Doeh?

- 0 oo z 0 =
(FEQ'&JIJM:::} EE112+,"E11+ =% ECu*’;’Gu =¥V)

Options:

1. % 2
L

2.
x+y



S

Question Number : 144 Question Id : 4509386064 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

At T(K), the decomposition of NyOs(g) 1s a first order reaction. The imitial pressure of NoOs(g) 1s

"a” atm. After time, t. the total pressure of reaction is “p’ atm. The rate constant (k) of the reaction

15

ooy &

T(K) 54 No0s(g) TP, 2.8 (3636 [$5708 1365, NaOs(g) HE) (Edaid ‘a” atm. t

5]

VT'08:0 (k)

[

50)ai) CaTeh H0m5 A |ae) OB B P atm. TES BN

Options :

K 11( —)
_r”a—Zp

1. %
1 3a
H:—!n.( )
5 % t 3a—2p
1 3a
K:—n( )
3 % t 3a =P

1 3a
<l )
5a — 2p

Question Number : 145 Question Id : 4509386065 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

The correct statements about the adsorption of gas on solid adsorbent are

D ©BTNE0 2 O ©HFT 205 00BN B T IDEEN

L

IL

L

V.

Adsorption 15 always exothermic
©ATALI0 VD Gaardso
Physisorption may transform info chemisorption at high temperature

90 P 1165 3¢ ITHE AT A0, SN BHT AEI0H TSN,

Physisorption mereases with increasing temperature but chemisorption decreases with

increasing temperature

&\l OTSD 88 @dTan0 M0 5 Gl DOMSE
BRPODE OO0 BHS0

In physisorption enthalpy of adsorption is 100 K] mol ™

T8 AT 2008 985N Do) 100 Kj mol ™

Options :

I & IV only

IT & IV 037 €H o)

1. %

IIT & IV only

I & IV o307 €550

IT & III only

, I&Im NS

I & II only

I & II 3507 ehadd



Question Number : 146 Question Id : 4509386066 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The electrolyte which is highly effective for the coagulation of antimony sulphide sol is

SOBTVNBIE O D H0d80 TS O ©HE [arado o

D08 BE

Options :
K550,
CHCEE

Alcl,

NHEPO,_L

Question Number : 147 Question Id : 4509386067 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following
1808 ¢3Q) 2659tV

List-I List-II
A o1l

A | Leaching P |z

AT
B | Mond process II | Al 05 from bauxite

Srob HRe 25368 00 Al,0,
C | Van Arkel method I | N1

T 850 O
D | Zone refining IV |[In

S0 580

V |Zn

The correct answer 15
VOIS PN VAR N6)
Options :

A-TI. B-III. C-V. D-I

1.%

A-II, B-NI, C-I, D-IV
2.

A-MIT, B-IV. C-I. D-II
3. %

A-IV, B-I. C-II. D-II
4. %

Question Number : 148 Question Id : 4509386068 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In the disproportionation reaction of nitrous acid. X is formed along with mitric acid and water. X

can also be obtamed by the reaction of

TR 8390 @e5ereh 165 FE3F e300 HBTD ASS 2P0 X ). X &
81385 DOG 37 PO I
(dil. = DO, cone, = mes)

Options :

Zn + dil. HNO4

1. %

Zn + Conc. HNO;
2. ®

Cu 4+ dil. HNO4
3.¥

Cu + Conc. HNO;
4, %

Question Number : 149 Question Id : 4509386069 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Fusion of Mn0, with KOH in presence of KNO; produces a dark green colour compound ‘X", X

disproportionates in acidic solution and gives °Y", ‘Z’ and water. The sum of spin only magnetic

moment values of Y’ and ‘Z" is

KNO; 508,065 KOH & (050 08 Mn0, 28 ses) es80:3td) Goih i) abgieso
X 8 EIHN0H. 8 [IB0S X O3DFS0 Tod V', 7' ek A

ORR0A. Y OO Z' © (BT 0D, 06 2708 Densied Fneo



Options :

3.87
1.¢

5.92
2. %

4.90
3, %

2.83
4. %

Question Number : 150 Question Id : 4509386070 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The number of ions present in tris (ethane-1., 2-diamine) cobalt (IIT) sulphate 1s

1830 (BB S-1, 2-BANS) SO (I DS S eaird © Hops
Options :

2



Question Number : 151 Question Id : 4509386071 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In which of the following the polymer 1s correctly matched with the catalyst used for its

preparation’
806 FBS TG TR SArES T &(B)6%08 HOT 26 ToHG0E?
L Teflon ---- Persulphate
(AN e 200 YD
.  Low density polythene ---- Triethyl aluminum and titanium tetrachloride

90)T0|0S FORR | DIBO WA, BEFVHO BErS B

. Terylene ---- Zin¢ acetate / antimony trioxide
5 5 .
VOOD - 205 DD / 8083 [ DeE) 6
Correct answer 1
NJOOVINENSEARNAW
Options :

I. IIT only

o LI o375
L. II only
. I. II 30| €530

IT. III only
I1. TII &55°( 6530

3. %

L. HI
4, %



Question Number : 152 Question Id : 4509386072 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Sucrose 15 a disaccharide of which of the following?

D5 (808 DB BTED&?

HOHC o OH CH,0H CH,0H CH,0H
H f A1 wo/f Qwu
H CH,0H H H
OH H o0 H
HO H HO OH H OH
H OH H OH
I I 11 IV
Options:
I. 101
LII
2. %
1L TII
3. %
L. IV
4. %

Question Number : 153 Question Id : 4509386073 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Amino acids are represented by the following general structure

80O APerde NTEI0 T T e, Lol 0D RS

Find out the pair in which amino acid is correctly matched with its group R

NS N0 TR R ASITT0S QBT 2TOHDES B0 §08508

Options :

Ly —eee— — —(CH,), — NH,
1.4

val - — — — —CH,CH(CH3),
2. %

Thit === —CH,0H
3. %

PRy —CH,CONH,
4, %

Question Number : 154 Question Id : 4509386074 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List-I (Chemical) List-IT (Use)

A | Morphine I | Antiseptic

B | Pencillin II | Antibiotic

C | Iodoform II | Pamn killer

D | Sodium Benzoate IV | Food preservatives

1508 PR 2300l

)@ (GroDS0) Zre)e-I1 (C:003r10)
A | 5838 I | oSrotdas
B |20 I | girotSandares
C |@rETo I | §%) ATOe]
D | FA0Ha BoEHE | IV | 55 T 008 50

Options :

A-T B-1I, C - I1I, D-1IV
1. %

A -1II0, B-1I, C=], D-1IV
2.9

A - IIIL B-1IL C -1V, D-I
3. %

A-II B - III. =1 D-1IV
4, %

Question Number : 155 Question Id : 4509386075 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
What is D in the given sequence of reaction?
1808 3650 (50065 D E?
COCH,

. @

(1) B]."'l OH NH; Br) CH(_]Q
— > A - B—— > ( —
(i) H A NaOH ale. NaOH

Y

= D

Options :

Aniline

9dOS

Cyanobenzene

JOHS Bo2ES

Benzene isocyanide

2302 POV TE

Benzamide

Zoa

Question Number : 156 Question Id : 4509386076 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What 1s X in the following reaction?

H,;C
H;C \C Br + OH =————X
CH;
1808 $HE5S X DE?
H;C
H,C \C Br + OH ——X
CH;
Options :

Butan — 2 — ol

2B —2 -85
2 —methyl propan — 2 — ol
2B (TFDS-2-86
2. ¥
2 — Methyl propan — 1 — ol
2-BO (TS -1-8S

Butan—1 — ol

2050 -1 -4

Question Number : 157 Question Id : 4509386077 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Observe the following set of reactions
BO t3G 50 D HBFO0B0GH

2+ ) MeMgBr
He .H+F (1) Me gBl}

C3Hy -
A (i) HyO

BH.), 1,0,/ OH
o, —O0s . tot

= B
Correct statement regarding Y and B 1s
Y 20800 B 50 Q02050070 OO a5 s

Options :

Both Y and B are dehydrated with Conc. H,50,/443 K
¢S H,50,/443 K & Y 508050 B Boch UOES0 Tocheron

Both Y and B are dehydrated with 20 % H3;PO, /358 K
20 % H;P0, /358 K& Y 0805 B 50k QEOEB0 Tochaon

Y is dehydrated with Conc. H,S04/443 K and B with 20 % H5;P0, /358 K
I H,50, /443 K & Y 558050 20 % HyP0, /358 K & B Q34580

BOCNT O

B 1s dehydrated with Conc. H,S0,4/443 K and Y with 20 9% H;P0O,/358 K
PCh H,S0,/443 K & B 500050 20 % HyP0, /358 K & Y QUODEGe0

DOCDNTEOD
4.

Question Number : 158 Question Id : 4509386078 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
What 1s Y 1n the following reaction sequence?

1808 T8 (E00S Y E?

OGH; (1) KMnO, / OH"
CH,CI o
- X
anhy. AICI; R (i) H,0*
1w o
Lt"'-’? [T
Options :
OCH;
,f'*
=~">CO0H
OCHs
COOH

Q..
:

COOH
4. %



Question Number : 159 Question Id : 4509386079 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What are X and Z in the following reaction sequence?

B0 TS 1BeDOS X SHBAN Z €0 2D?

1) X CgH
~~.-CH {.{.IJ = Y — =
(i) SOCI, anhy. AlCls
eony O
Options :
CrO5 / H,S0, : Propiophenone
ESIESOVIEINTS)
1.¢ )
CrO; / H,S04 : Acetophenone
DV DID
2. %
PEC : Propiophenone
ISP DB
3. % )
PCC : Acetophenone
DE DD
4, %

Question Number : 160 Question Id : 4509386080 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two statements are given below

Statement I:  Benzenamine can be prepared from phthalinide

Statement II. Benzenamine 1s less basic than phenyl methanamine

Correct answer 18

150¢5 BOCH a7 SDEEN P §2B0)

TS BOBSDS D TODE 0D SATEHTASTD)

TS DTO WS E0T) BOBSDA 50 %000 S8 550 EOCH
HEES HIPEESa

Options :

4.v

Both statements I & II are correct

I& IIarEaDsen SO 80D

Both statements I & II are not correct

I& II33° 550 TOCT OB8QDAID 559

Statement I 1s correct. but statement I 15 not correct

55 T OB, 57 7 5ws I HOTDSE 5°¢H

Statement I 15 not correct. but statement II 1s correct

2308 T DBTPOE 5%, 5°) o £05 T SOOI



